Mr. Schlansky Geometry
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Similar Polygons

1. Parallelogram DEFG is similar to parallelogram XRKW. Find x.
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2. In the diagram, AABC is similar to AA'B'C', AB =24, BC =30, and CA = 40. If the
shortest side of AA'B'C'is 6, find the length of the longest side of AA'B'C".
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3. Polygon ABCDEEF is similar to polygon XRKQMG. Find x.




5. The sides of a triangle are 8, 12, and 15. The longest side of a similar triangle is 18.
What is the ratio of the perimeter of the smaller triangle to the perimeter of the larger
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6. The sides of a triangle are 8, 12, and 15. The smallest side of a similar triangle is 12.
What is the ratio of the area of the smaller triangle to the area of the larger triangle?
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7. Two triangles are similar. The sides of the smaller triangle have lengths of 6, 7, and 12.
The perimeter of the larger triangle is 75. Find the length of the longest side of the larger

triangle.
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8.IfAABC ~AXYZ , AB=4, BC=6,and YZ =8, and the perimeter of AXYZ is 28,

find the perimeter of AABC.
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9. IfAABC ~AXYZ , AB=4, BC=6,and XY =8, and t © area 0 AXYZ is 28, find the
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10. Two triangles are similar. The sides of the smaller trlangle have lengths of 4, 6, and 8.
_The perimeter of the larger triangle is 27. Find the length of the shortest side of the
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11. Two triangles are similar. The sides of the smaller one are 5 cm, 7 cm, and 9cm. If the
perimeter of the larger triangle is 42cm, what is the measure of the largest side?
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12. Triangle ABC is similar to triangle DEF. The Tengthsof the sides of AABC are 5, 8,
and 11. What is the length of the shortest side of ADEF if its perimeter is 60?
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13. In the diagrain below, AABC ~ ADEC. X=| 9 S5
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If AC = 10, AB = 8, DE =6 and the area of AABC is 64, what is the area of ADEC?

14. In the diagram below, AABC ~ ADEC.

If AC=12,DC=7, DE=5, and the perjmeter of AABC is 30, what is the peﬁmeter of
ADEC?







